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19.6       1)   

Για να είναι τα πολυώνυμα ίσα , θα πρέπει να έχουν τους αντίστοιχους συντελεστές ίσους , δηλαδή: 
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19.6       2)   

Για να είναι τα πολυώνυμα ίσα , θα πρέπει να έχουν τους αντίστοιχους 

συντελεστές ίσους , δηλαδή : 
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19.6       3)   

Για να είναι τα πολυώνυμα ίσα , θα πρέπει να έχουν τους αντίστοιχους 

συντελεστές ίσους , δηλαδή : 
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19.6       4)   

Για να είναι τα πολυώνυμα ίσα , θα πρέπει να έχουν τους αντίστοιχους συντελεστές ίσους , δηλαδή: 
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19.6       5)   

Για να είναι τα πολυώνυμα ίσα , θα πρέπει να έχουν τους αντίστοιχους συντελεστές ίσους , δηλαδή: 
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19.6       5)   

Για να είναι τα πολυώνυμα ίσα , θα πρέπει να έχουν τους αντίστοιχους 

συντελεστές ίσους , δηλαδή : 

3
3

2
5

11 11 ύ ά
1

2 3

 
 

    
   

           

 

 
 


